
 

 

 

 

Vendor:VMware

Exam Code:VCP550D

Exam Name:VMware Certified Professional 5 - Data
Center Virtualization Delta Exam

Version:Demo

 

 



QUESTION 1

A vSphere administrator determines that more metrics are available for viewing in the realtime view than are available in
the daily view for a virtual machine. What is the reason for this discrepancy in the number of available metrics? 

A. The daily view does not contain all of the metrics that the realtime view does. 

B. The default vCenter statistics level is being used. 

C. A vCenter statistics level of 4 is being used. 

D. The daily view presents a different selection of metrics by default than presented by the realtime view. 

Correct Answer: B 

 

QUESTION 2

A vSphere Administrator has a multi-tier application deployed in a vApp. The administrator needs to rapidly deploy
copies of the multi-tier application to various departmental infrastructures throughout the company. Which step should
the administrator take using the vSphere Web Client to allow this? 

A. Export the vApp as an OVF Template 

B. Convert the vApp to a Template 

C. Clone the vApp to a OVF Template 

D. Add the vApp to the Catalog 

Correct Answer: A 

 

QUESTION 3

-- Exhibit -



-- Exhibit -Users accessing the WinXP virtual machine shown in the exhibit report intermittent connectivity to the
corporate network. 

The configuration is as follows: 

This virtual machine runs in a DRS/HA cluster of two ESXi hosts. 

The VCP_DCV_Example vSphere Distributed Switch was recently created. 

The WinXP virtual machine was recently migrated from another vSphere Distributed Switch. 

The WinXP virtual machine was able to connect prior to migration to this switch. 

No changes to the VCP_DCV_Example switch have been made since creation. 

Which step should the administrator take to resolve the WinXP virtual machine\\'s intermittent connectivity to the
corporate network? 

A. Add the ESXi host to the switch where the virtual machine is currently running 

B. Disable Port Blocking on the VCP_DCV_Example switch 

C. Disable Port Blocking on the Production port group 

D. Enable Network I/O Control on the switch to better balance I/O 

Correct Answer: A 

 

QUESTION 4

An administrator is considering using NPIV to assign WWNs to virtual machines. Virtual machine portability is a major
concern. Why would NPIV be inappropriate for this deployment? 

A. Virtual machines using NPIV must use DirectPath I/O. 

B. Storage vMotion is not supported using NPIV. 



C. vMotion is not supported using NPIV. 

D. Enabling NPIV requires SR-IOV supported hardware. 

Correct Answer: B 

 

QUESTION 5

To avoid unnecessary planned downtime, what is the minimum version of VMware Tools that, if installed, will decrease
the need for virtual machine reboots following VMware Tools upgrades? 

A. 5.5 

B. 5.1 

C. 5.0 

D. 4.1 

Correct Answer: B 

 

QUESTION 6

A security audit has revealed that a virtual machine on vSwitch1 is receiving all traffic sent to the virtual switch, violating
corporate policy. The vSphere administrator examines the properties for vSwitch1, as shown in the exhibit: -- Exhibit -



-- Exhibit -Which configuration explains why the virtual machine is receiving all traffic sent to vSwitch1? 

A. The Production port group has the Promiscuous Mode policy set to Accept. 

B. vSwitch1 has the Promiscuous Mode policy set to Reject. 

C. The Network Failure Detection policy on the Production port group is set to Link Status plus Beaconing. 

D. The Network Failure Detection policy on vSwitch1 is set to Link Status only. 

Correct Answer: A 

 

QUESTION 7

An administrator needs to provide a report that will help managers better understand how all of their virtual machines
are sized. 

Which report within vCenter Operations Manager should the administrator provide? 

A. Undersized Virtual Machines Report 

B. Configured Host or Cluster Capacity Report 



C. Virtual Machine Capacity Overview Report 

D. Virtual Machine Optimization Report 

Correct Answer: D 

 

QUESTION 8

-- Exhibit -

-- Exhibit -An administrator is unable to configure Receive Side Scaling on the vmnic driver in a Windows 2008 R2
guest. 

Based on the exhibit, what would need to be modified to enable this option? 

A. Manually configure a static MAC address 

B. Enable DirectPath I/O 

C. Ensure the vmnic is attached to the correct network 

D. Change the adapter type to VMXNET3 

Correct Answer: D 

 

QUESTION 9

A vSphere administrator needs to upgrade a single extent VMFS3 datastore to VMFS5 and expand it to 4TB in size.
The storage administrator has already expanded the underlying LUN to 4TB. Which steps should the vSphere
administrator take? 



A. Expand the VMFS3 datastore to 4TB and then upgrade to VMFS5 

B. Upgrade the datastore to VMFS5, manually change the partition scheme to GPT, and then expand the datastore to
4TB 

C. Upgrade the datastore to VMFS5 and then expand it to 4TB 

D. Change the block size of the VMFS3 datastore to 1MB, upgrade the datastore to VMFS5, and expand it to 4TB 

Correct Answer: C 

 

QUESTION 10

A customer needs to select an appropriate Path Selection Policy (PSP) for their storage array. There is no requirement
for a preferred path. The policy should not select a new path unless the current one fails. Which PSP meets the
requirement? 

A. Fixed 

B. Round Robin 

C. Most Recently Used 

D. Asymmetric Logical Unit Access 

Correct Answer: C 

 

QUESTION 11

During a physical network reconfiguration, an ESXi host briefly lost connection to the management network. High
Availability (HA) began powering off the virtual machines residing on the affected host to be restarted on an unaffected
host in the cluster. Which setting should the administrator configure to prevent this behavior in the future? 

A. Host isolation response 

B. Host monitoring 

C. VM monitoring 

D. Admission control 

Correct Answer: A 

 

QUESTION 12

An administrator needs to export system logs for an ESXi 5.5 host to determine the root cause for a host performance
issue. This host supports manifest-driven exports of system logs. Which manifest is selected by default during the
export system log wizard? 

A. Userworld 



B. Hostworld 

C. PerformanceSnapshot 

D. HungVM 

Correct Answer: A 
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